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5. Acereal company wants to change the shape of its cereal box in order to attract the attention of shoppers. The
original cereal box has dimensions of 8 inches x 3 inches x 11 inches. The new box the cereal company is thinking

of would have dimensions of 10 inches X% 10 inches X 3 inches.

a.  Which box holds more cereal?

b.  Which box requires more material to make?

6. Cinema theaters created a new popcorn box in the shape of a rectangular prism. The new popcorn box has a length
of 6 inches, a width of 3.5 inches, and a height of 3.5 inches but does not include a lid.

3.5in.
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a. How much material is needed to create the box?

b.  How much popcorn does the box hold?
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